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E QUESTION BOOKLET

39 UET GRAHT Bl 99 d6 T @i "

d dal 1 .U |/ Do not open this test
booklet until you are asked to do so.

@ST / Instruct@

1. 97 O &l & e & Ueel, HUAT ST U9 GRaent aiiT 1. TH. T X

AT %l ST H ¢ SR Ghivad oL

— YT R 7T S.TH. 3T, I I hH Tl G ¢ |

— 997 YRt & il 56 3 9 gfea ¥ ofik wedy geet wx ant us
gl

fepit ot fereirir/aTe o APl , arvrel Y wee gRAe 87X ol T8,
I Bl Ta & (Q JLd AR BT A T e a0
TR | TlE 9 B % Ui e 91E 39 g9 | feEr o a9
sty ax feramy 1€ fomam smem | e forg srvedl SoaTy gem
Before attempting the question paper, kindly check your
Question Booklet(QB) and O.M.R. Answer Sheet and
ensure that:
- Serial number of Question Booklet(QB) and OMR
Answer Sheet is same.
- All pages and all questions are properly printed
In case of any discrepancy/defect, the candidate should
immediately report the matter to the Invigilator for
replacement of Question Booklet(QB) and OMR Answer
Sheet. No claim/objection in this regard will be
entertained after five minutes of start of examination,
candidate will be liable for the same.

2. SNTHA SOR-T9% & T fou o @i et o
Read all instructions on the reverse of OMR Answer
Sheet.

3. ST SUX-T5 IR Had Aid ard @1ge U &1 T4 H1 | Hual,
ST FA—T50 & SO U AT ST ST ST Fel & &
Ll
On OMR Answer Sheet, use blue ball point pen only.
Please, fill your Roll No. and other information correctly
in OMR Answer Sheet.

4. afe forelt s & g wep & aifires T sifera fopd s € o o9 T
T AFT AR
If more than one response is marked for a question, it
would be treated as wrong answer.

5. vd® U ¥ Ui fase/ Mo ¥ | vew IR faswed/ i (A), (B), (C)
3t (D) Suged I & dfta ¥ o ufeat faswen/mar “(E)
‘ST ue & gefid ¥
Each question has five options/circles. First four options/
circles (A), (B), (C) and (D) are related to appropriate
answer and fifth option/circle ‘(E)’ is related to ‘Question
not attempted’.

6. TE ST UM &b T 1ol bl o7 TH. SR, SRk UX WK
T G % UEd AR s (A), (B), (C) a1 (D) & ¥ Haw b
Toreea /e ! e afd @rge O § WA 80 | At st foRdl wed
BT AN el 31 AEal & o e frebed/me ((E) @y TEr s
Gl
To indicate the correct answer, the candidate has to fill
in only one option/circle (A), (B), (C) or (D) with blue
ball point pen for respective question number on the OMR
Answer Sheet. If the candidate does not want to answer
any question then the fifth option/circle ‘(E)’ should be
darkened.
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et & gt B T /

Number of Pages in Booklet : 48

a
gRaent # oAl &1 e /
Number of Questions in Booklet : 150
a
guY / Time : 3 €< / Hours
Q )

f i . Question Booklet Number
‘{Uﬁ‘cﬁ / Maximum Marks : 300 79 TR ;

J

J

7. afc arE faed ¥ 9 B W fehea/ e e T A T at 9ed @
1/39m i @re feran S|
1/3 part of the marks will be deducted for the questions,
if none of the option/circle options are darkened.

8. UA® T ITX W UL &k @B 1/3 AN BT SR T SO
e S1g[E ST A1 Rl U9 % U @ o1 s § B
1/3 part of the mark(s) of each question will be deducted
for each wrong answer. (A wrong answer means an
incorrect answer or more than one answers for any
question).

9. 10 yfsta ¥ siftres weat & forelt off ferpeu /et &l a1l &1 TR0
T fopan T A 3@ wlien & foq e =it & foa s
If a candidate leaves more than 10 percent questions or
does not darken any of the five options, he/she will be
disqualified for the exam.

10. st o gl 99 & 10 &0 & &9 T fereeq/mierr 9 & a1 T8
Tz gifyad & % frg 10 fire aifafie fog sma)

Candidate will be given 10 minutes extra to make sure, if
he/she has filled up any one option/circle for each
questions.

11. 3 weT & fE=T a1 SISl S&B 0T 7 qE0T AT TEATH TP B Rl
Al TR 1 ST/ &, Tl ST HEBT i Sife 7 S|
Ifthere is any sort of ambiguity / mistake either of printing
or factual in nature in Hindi or English version of
questions, then the English Version will be treated as final.

12, olian &fd & Aasd ®H/sey fSasa a1 fedl o et e
T SUART Ted afsta &1 afs fepey srvaeff & urer v i wfoeifa
A UTE T o 9% freg e ged st @t s
Use of Mobile Phone / Bluetooth Device or any other
electronic gadget in the examination hall is strictly
prohibited. If any such prohibited material is found with
any candidate, strict action will be taken against him/her
as per rules.

AT : AfE g sreelt Thd B G U ST ¥ AT Srfed alih STAT

T UTAT ST E AT SHSH U BE SRS GrRl U1E ST & O 36 Raars

i ReF § TE.IE.SMR. TSt %1 I R a8 Ty idwitis wam

aifufram, 2022 o detterm sifufem 2023, (it ¥ srgfaa et

VBT & STEU) &% qed JebaHT I & g Saarar e forad 10 ad

T STSiE HIE™ a1 % 1 6 0% & Taa & | 38 918 %1 iy df

Ty Tlerett § T w9 § faafsta off fman s we 31

Warning : If a candidate is found copying or using unfair

means or if any unauthorized material is found in his/her

possession, F.I.R will be lodged against him/her in the Police

Station and he/she would be liable to be prosecuted under State

Public Examination (Measures for Preventions of Unfair

Means in Recruitment) Act. 2022 and Amendment Act 2023.

The act has provisions of imprisonment of 10 years to life and

fine up to % 1 crore. Board may also debar him/her permanently

from all future examinations conducted by the Board.

m
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1 In the given figure, find the missing number.
[ CERRGERISIRICEAIS I
17 | 18 19
20 21 22
1 2
37 [156 | 2
(A) 369 (B) 264
(©) 123 (D) 193

(E) Question not attempted / Gﬂﬁﬁﬁ 99

2 Find out the next two terms of the given series:

&1 7TS e o ST &1 UGT ShT T T
D,W,H,T,L,Q,P,N,?,?

(A) T,] (B) T,L
(©) T,K (D) U,K

(E)  Question not attempted / 3T R

3 Rahul said to Preeti, “The only sister of your brother is my mother.” How is Rahul related to Preeti?
(A) Brother (B) Father
(C) Son or daughter (D) Husband

(E)  Question not attempted

e S & e, “qreR TS Shl Seheiid! Sed B T 87| Tge o SHifer & e Hefy 22

(A) 98 (B) fuar
(C) sararsdt (D) ufy
(E) SFdia o

4 How do you save a document in MS-Word? (Choose the most appropriate option from below)
(A) Click on save button on the formatting toolbar.
(B) Click on save button in tools.
(C) Click on ‘save as’ button.
(D) Press Ctrl+F4
(E) Question not attempted
AT ToreT SIS 1 TH.0E I H H8 Fesid (8 ) 87 (FF H o Hoel S0 forshed =)
(A) SHEMIA TN MAT A WldAF R (B)  Zod H 6 s T eketeh i
(C) VTSP e W foretah b (D) whalel + F4 galtd
(E) rgaRaws

X31] 9 2 [ P.T.O.
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What is Gutter margin? (Choose the most appropriate option from below)

(A)
(B)
©)
(D)
(E)

Margin outside of the page

Margin that is added to the binding side of page when printing

Margin outside of left side
Margin outside of right side

Question not attempted

T IS T 82 (T | & 6o ST forshed )

(A)
B)
©)
(D)
(E)

UST o SITEX TR (HTfS)

TEOT A T I o STSfe et S wife Siet S 8
FTE S o ST BTITAT (HTFSH)

TTU T o SITEL IR (HTHSH)

FARa 9

Select a group of Input Devices only.

(A)
©)
(E)

Sensor, Speaker, Keyboard, Mouse (B) Mouse, Joystick, Keyboard, Printer

Sensor, Actuators, Scanner, Keyboard (D) Joystick, Scanner, Microphone, Keyboard

Question not attempted

e $TIE ST T T EHE T
o, TR, hl-ae, IS (B) =Y, S ek, Fr-arg, fiiex
T, TFUeH, TR, Hi-as (D) S ek, TR, TTgshIe, Fl-aie

(A)
©)
(E)

ST T

What other name does a dot matrix printer go by?

(A)
©)
(E)

Spray Printer (B) ROM Printer
Impact Printer (D) Page Printer

Question not attempted

Sie Bfger Tt st 1= fore 19 & ST ST 22

(A)
©)
(E)

T fiiet (B) T
e fiieX (D) Ul fiiex

ST T

Convert the following sentence from Active to Passive voice by choosing the most appropriate option:

An alert neighbour caught the thief breaking into a house.

(A)
B
©)
(D)
(E)

%

The thief was caught breaking into a house by an alert neighbour.
The thief will be caught by an alert neighbour when breaking into house.
The thief will caught an alert neighbour breaking into his house.

An alert neighbour had caught the thief breaking into his house.

Question not attempted

[ P.T.O.
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Match the words in list I with their similar meanings in list II.

List-1
Word
a.  Flippant
b.  Hamper

C. Browbeat

d.  Acquiesce

List-11

Meanings
L Comply
II.  Bully

III.  Frivolous

IV. Hinder

Choose the most appropriate answer from the options given below:
(A) a-NILb-1V,c-1I,d-1
B) a-Lb-I,c-1V,d-1I
(C) a-I,b-ILc-1,d-1V
(D) a-1V,b-Ic-III,d-1I

(E)  Question not attempted

Fill in the blank in the given sentence by choosing the most appropriate pretix from the options given

below.

She sports an

(A) in-
(B) un-
(C) dis-
(D) mis-

happy look in the mornings and cheers up in an hour.

(E)  Question not attempted

The dental formula in humans is represented by incisors, canines, premolars and molars respectively

as:

TISAT H G A T SHART: Freciehl, T&Tohi, TAUIERT ST FUIEhT GRT [+ &9 H ST ST &

(A)

B)

©)

(D)

2132
2132

2312
2312

3212
3212

2123
2123

(E)  Question not attempted / 377 a9

%

[ P.T.O.
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12 Match List-I with List-II.

List-1 List-11
Mixture Separating technique
a. Camphor and salt L. Separating funnel
b.  Butter and curd II.  Chromatography
C. Oil and water III.  Sublimation
d.  Different pigments of a leaf IV. Centrifugation
TeiT-1 3 |1 -1 1 e it
Teit-1 Teit-11
fargror YFRI0T ek Ih
a. AT AR L e Y
b.  HEFEH IR I SRIHEHTH
c. ddIARSA 1. AT (359 ST <t fopam)
d. Ul fafie femie IV. S0 (Ewee)

Choose the most appropriate answer from the options given below:

et fa T forshedt # & @arfferes 3ugeh 3Tt 1 = hITSU:

(A) a-NLb-1IV,c-1L,d-1I (B) a-NLb-II,c-1V,d-1
(C) a-II,b-IIc-1V,d-1 (D) a-1V,b-Lc-1I,d-1II
(E) Question not attempted / 351’:@'&?[ 99

13 Identify the animal hormones from the following:

a. Thyroxine b.  Cytokinin
c.  Adrenaline d.  Estrogen
e. Auxin

Choose the most appropriate answer from the options given below:

(A) a,banddonly (B) a,b,canddonly
(C) a,canddonly (D) b, candd only
(E) Question not attempted

Freaferfia i & Ty Tt A T

a.  ITERIfEA b.  WTEIRHT

c. ﬁﬁﬁ?’ﬁ? d. ‘I@Tﬂ?

e.  3ifoEd

et fa T forshedt 7 @ warfferes 3uge 3T 1 =2 iU

(A) Hacla, b3 d (B) Fada, b, c 3 d
(C) A a,c3d (D) HaAb, ¢ 3R d
(E) SFTdia g%

X31] 9 5 [ P.T.O.
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Which helpline number integrated, with the Chief Minister’s Helpline, has been initiated in Rajasthan?

TS H, Teawi=fl 3qcTTe oh |1, ShiH-HT Tshishd QeuciTa o IT& fohat T

(A) 191
(C) 181
(E)  Question not attempted / 3T T 9g

Given below are two statements:

(B)
(D)

141
101

Statement (I): India’s only saline river, Luni, flows through the Thar desert in Rajasthan.

Statement (II): Luni River concludes in the Rann of Kachchh, Gujarat.

In light of the above statements, choose the most appropriate answer from the options given below.

(A) Both Statement (I) and Statement (II) are correct.

(B) Both Statement (I) and Statement (II) are incorrect.

(C) Statement (I) is correct but Statement (II) is incorrect.

(D) Statement (I) is incorrect but Statement (II) is correct.

(E) Question not attempted

A= €t e feg o @:

AT (I): TR hT THATT TR T, TAT, TSI H R AR & Sieht g o
HAT (I1): A 7, TR o o o 107 H HATH Bil 2
ST T o HATA |, 1=l T T forepedt W & @ 3ugh ST |

(A) e (1) 3T FHAA (11) IHT Tt &)
(C) A (1) el & AT T (1) TTeId 2
(E) raia g

(B)
(D)

Which year, the Indian Railways was nationalised?

VI LT 2T USEIFahLoT fore o 1 gaT o
(A) 1950
(C) 1952

(E)  Question not attempted / 3T T 9g

Who was the first Indian Governer of RBI?
(A) C.D. Deshmukh

(C) C.P.Bandopadhyay

(E)  Question not attempted

A et e o T A et i 92
(A) < e

(C) . dt. sicraTearr

(E) SFdia g%

%

(B)
(D)

(B)
(D)

(B)
(D)

2 (1) 3T e (11) SHT & TeAd 2
T (1) TTeTd & Ao e (11) el 21

1951
1953

O. S. Bonn

Hiren Das

T, wg. &
ISCEA]

[ P.T.O.
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18 Arrange the following districts of Rajasthan in ascending (increasing) order according to their

urbanisation.

a. Banswara b.  Jaipur

c. Kota d.  Ajmer

TSTET o frferfiaa foret sht 3ok STRiohtoT o STET ST (S1ed) 5hH H Safeerd &l
a. 6|'TH<—:|'I€T b. ST

c. @I d. =R

Choose the most appropriate answer from the options given below:
et fa T forshedt # @ warfferes 3uge ST 1 = AU

(A) d,ac,b (B) a,d,b,c

(C) a,d,c,b (D) a,c,d,b

(E) Question not attempted / ag?lﬁ_d EE)

19  Match List-I with List-II.

List-1 List-11
District Product
a. Barmer L. Rice
b. Bundi II.  Sandstone
c. Pali III. Mehndi
d.  Tonk IV. Isabgol
-1 o1 GEAi-11 9§ e hifsr)
Tei-1 Heit-11
LS 3T
a. STEHL I <Ed
b. St I ST deel
c. Ut 10 R
d T=® V. sEad

Choose the most appropriate answer from the options given below:

et few e fereredt o @ warffares IUg ST Rl < AT

(A) a-IV,b-1c-1IId-1I (B) a-IV,b-1l,c-1,d-1II
(C) a-Lb-II,c-II,d-1V (D) a-II,b-IV,c-III,d-1
(E) Question not attempted / ﬁ'ﬂﬁa 99

20  Arrange the following mountain ranges of India in east to west direction:

a. Ajanta Range b.  Aravalli Range
c. Hazaribagh Range d.  Maikal Range
W sht FHTRTREd el Sfarerratt ol qa & iEm fomm # sraferd =i

a. IS e b.  IUE gEa
c.  BSRISTT H@el d.  HeRTeT e

Choose the most appropriate answer from the options given below:
et fau T forshedt # & @afferes 3uge 3T T = HITSU:

(A) c,d,b,a (B) c¢,d,a,b

(C) c,a,d,b (D) d,c,a,b

(E)  Question not attempted / ﬂaﬂﬁﬁ EE)

X31] 9 7 [ P.T.O.
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21 In Rajasthan the National Food Security Mission (NFSM) on wheat and pulses was launched

n

TSTET H, Il 3T T8 T TS et R (T, T, TH. TH.) ERISIERIRRIRI
(A) 2005-06 (B) 2006-07
(C) 2007-08 (D) 2008-09

(E)  Question not attempted / 3T a9

22 Lalgarh Palace and museum was built by:
(A) Maharaja Ganga Singh (B) Maharaja Rai Singh
(C) Maharaja Jai Singh (D) Maharaja Lal Singh
(E)  Question not attempted
lefTe HeeT (Yeld) TR HURTerT foRweh ST ST TIIT 212

(A) TERIST T fEE (B) Termn Uy fiw
(C) e 5 fiw (D) HERIST o1 f8E
(E) SF7aia g%

23 In the ‘Spirit of the Laws’, who proposed the division of power within the Government between the
legislative, the executive and the judiciary?
(A) Rousseau (B) Macaulay
(C) Montesquieu (D) John Locke
(E)  Question not attempted

SR shl WTEAT H ol TRt o e forerfRrehr (forer wsfeft), shrefTicTsht 31 =rraraforsst o sft<r 2fth

IERISEEIREE I CREC IR

(A) &4 (B) Hehict
(C) HieER] (D) St
(E) SFdia g

24 T IEEH I B-

(A) 37| (B) Ve
(C) =TT (D) formmt
(E) SFdia g%

25 oTE + 37 = wranel” Se% fopw wfer T SaTeRT 27 (T T © Here Sk forehed <)

(A) <hSH gy (B) T&HM
(C) foemtdfy (D) we Gfer
(E) SFaia g%

X31] 9 8 [ P.T.O.
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26 TrAfaRad 5 @ forer TehTeien 316a o 37 - 3, ST qe ¥ 82

(A) T (B) U
(C) @ (D)
(E) SF7aia o

27  Complete the given sentence by choosing the most appropriate word from the options given below.

We can’t give Laila lift, she lives far away in the next town.
(A) an (B) a
(C) No article (D) some

(E) Question not attempted

28  Choose the most appropriate option in Hindi for the ‘English’ word “affidavit’.
(A) I9Y9A (B) HelmHT
(C) TR (D) e sfm
(E)  Question not attempted

29  As per the Government guidelines, Elementary education means the education from: (Choose the
most appropriate option from below)

(A) Class1to5 (B) Class1to8
(C) Class Nursery to 3 (D) Class1to9
(E)  Question not attempted
TR o= R o ST7aR Srives fRre o o7 8 TR | (T o & Hee SRk forehed <)
(A) FHAT1T5TH (B) F&T 1T 8dAH
(C) HeaT T | 3 Th (D) FEA1H9YTH
(E) ST 921
30  Who established Sarvodaya Society of All India Union of Creative Workers?
(A) Mahatma Gandhi (B) Vinoba Bhave
(C) Jai Prakash Narain (D) Govind Nihlani

(E) Question not attempted

RS AT FrishatsTl & Taet YR T bl Haied Graad] shl T 6 oft?

(A) HETeHT TITelt (B) T v
(C) ST JehTeT TR0 (D) Tifae= fear
(E) SF7aia g%

31 In which state the Vinoba Bhave received the first land donation during the Bhoodan Movement ?
(Select the most appropriate option from below)
(A) Tamil Nadu (B) Andhra Pradesh
(C) Karnataka (D) Gujarat
(E) Question not attempted
fohe TS H M STTere o SR TS ATel T Teelt et fore or? (M W & Jer 3 forehed o)

(A) dfeerTg (B)  3TTeT YaIT
(C) e (D) T
(E) SF7aia g%

X31] 9 9 [ P.T.O.
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32 Which of these ports is most suitable for audio signal output?
sifet e SATeee % foft 370 § hiH-8T U1 Wil ST 27
(A) DB-25 (B) HDMI
(©) PS2 (D) LAN
(E) Question not attempted / 3‘!@3’?’\?{ EE

33  Which of the following is not an example of a system software? (Choose the most appropriate option
from below)
(A) Word Processors (B) Communication Software
(C) Utility Software (D) Translator

(E) Question not attempted

fmfafiad o & hiv-ar freen dives 1 3 78T 22 (e # 8 wer Swyeh farehed =)

(A) o€ I (B) I HIREeR
(C) Ffeferfe diveaex (D) ZiEereT
(E) SFaia g%

34  Which of the following is not an example of a user defined software:?
(A) Website (B) School management software
(C) Adobe photoshop (D)  Accounting software

(E)  Question not attempted

TR | € SIF-81 STATThd! TR AT 3hT Toh a0 a1 87

(A) oFETEE (B) Tarenera yeie diweaat
(C) ST BRI (D) SRS GFEa—T
(E) SAJaid 9

35  Which of the following is not a function of an operating system?
(A) Memory Management (B) Hardware Repairing
(C) Process Management (D) Device Management

(E) Question not attempted

Frefefaa & & -1 e ST foren o1 Rl 781 =22

(A) TER BESHE (B) wTea= fruafar
(C) g fasTHe (D) fearsa fasme
(E) SFdia g%

X31] 9, 10 [ P.T.O.
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36 Given below are two statements:
Statement (I): Other than the kidney, lungs and liver, skin also helps in the elimination of excretory
waste.
Statement (II): Malfunctioning of kidneys can lead to accumulation of iron in the blood.
In light of the above statements, choose the most appropriate answer from the options given below:
(A) Both Statement (I) and Statement (II) are correct.
(B) Both Statement (I) and Statement (II) are incorrect.
(C) Statement (I) is correct but Statement (II) is incorrect.
(D) Statement (I) is incorrect but Statement (II) is correct.
(E)  Question not attempted
FHAT (1): TT<, $HS TR T 6 STATE, = Wi SR % It (Heprer) H 7eg i 2
HAT (I1): TS T T & Tk H STRA o1 Eof & ol 2
SUUh ST o ATl H, =t 9 7T foreredl # & Hard Iuge ST 1 =3 ShifsIu;

(A) A (1) S FHIT (I1) SHT Tl & (B) & (1) S FHA (I1) THT & 7T 2
(C) A (1) &l & AT T (1) TeAd 2l (D) & (1) TTeTA & AR e (11) T 2
(E) rgaia g

37 Given below is a statement , followed by three assumptions.
Statement : Prem decided to leave office at 6:00 pm, to watch a movie starting at 8:00 pm.
Assumptions :
I. The movie may be delayed.
II. He may be able to reach movie theatre well before 8:00 pm.
II1. He may get adequate time to reach for a vehicle to go to movie theatre.
In light of the above statement and assumptions choose the most appropriate answer from the options
given below.
(A) All assumptions are implicit (B) Only II and III are implicit
(C) Only II is implicit (D) None of the assumption is implicit
(E)  Question not attempted
Tl T e T U SATHT LT I IO (Fr=rard) &1 2
AT 2 TH A T 8:00 ST 8 & T A1l {hed 3@ o foIe 311 6:00 11 1 ierd BigH 1 et for|
UTTY
1. e 41 & of ¥ 8 et B
1. 8 3T 8:00 St & HThT Tt T forue qe qgar § Wew & &ehal 2
111,38 f&wT foruet ST o for et ok Tge o fore, warte awer fie wreat 2
IULh S T TRUMTSAT o ATeAteh H, i< 20 T feredi # & wed SwIeh 3T 1 =93 IS

(A) aeft gromd sraffea B (B) shdet 11 3 111 A=t &
(C) et ] r=affed 2l (D) oS oft erron Srfifed T2 R
(E) SF7aia g

X31] 94 11 [ P.T.O.
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38 Given below is a statement followed by two arguments:
Statement : Should religion be prohibited?
Arguments :
I. Yes, it increases malevolence among people.
II. No, religion combines people together.
In light of the above statement and arguments, choose the most appropriate answer from the options
given below.
(A) Only I argument is strong (B) Only II argument is strong
(C) Neither I nor II is strong (D) BothIand II are strong
(E) Question not attempted
= T A qAT I qoh 4T T ©:
TR : FIT GH I TS L ST =MEC?
e
1. &, 9% S0 H 55 I ST 2l
1. T, & ST ol Teh |1 Sired 2
IUUTh S T qohl o ST H, =< faq 1T foshiedi § & Tad 3ugh 3T 1 99 IS

(A) det | dh, TR & (B) =hdet 11 Toh, T 2
(C) T SFTATE 11 h = (D) 1311 3T & |h Bl
(E) SF7aia g%

39  Which one of the following is a tag line of Rajasthan Tourism?
(A) Padharo Mhare Desh (B) Jaane Kya Dikh Jaaye
(C) Chokho Rajasthan (D) Dharti Dhora ri
(E)  Question not attempted

frefafaa g @ usrea wefeT i & e s 22

(A) UHN RN W (B) M ferar fom sme
(C) =Gl TSI (D) et e &
(E) SFaia g%

40  “Barometer” is used to measure
(A) Atmospheric pressure (B) Blood pressure
(C) Temperature (D) Heart beat

(E)  Question not attempted

SRIHTE T ST T+ | § foreeh! HT9+ o foTe, fearm STTefT 82

(A) TF T (B) THA™
(C) dmagH (D) TST i asHd
(E) 3rgafta o
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41  The term ‘Biotechnology’ was introduced by the following:
(A) Marshall Nirenberg (B) John H. Northrop
(C) Van Helmont (D) Karl Erkey

(E) Question not attempted

S TENfehT” w168 Y SEaATd o J & formres gr o1 s oft?

(A) it et (B) S . Hgrg
(C) 3w (D) Tt WTht
(E) SF7aia o

42  The energy released by sun and other stars is by the process of
(A) Nuclear Fission (B) Thermo-chemical reactions
(C) Chemical reactions (D) Nuclear Fusion

(E)  Question not attempted

T AT 3T TR G Fostt b Icefsi Fohey ST ST BrelT 22

(A) oA forde (Rfereter foher) (B) oI qrEmfeh HAMfshaTd
(C) Tt Afrframd (D) TRHTY] ERI (Yfefeta FST)
(E) 3rgafta o«

43  Inacertain code language, ‘EAT’ is written as ‘52” and ‘LOST” is written as ‘132°. How will ‘ERASE’
be written in that language?

foret ffeya e T/ ‘EAT o1 52 for@r Sitat 8 92 “LOST? &l 132 forat STt 81 39 9T § ‘ERASE”

=l H forar sTem?
(A) 90 (B) 92
(C) 94 (D) 96

(E)  Question not attempted / 3T a9y

44  Anil owns 12.5% of a Hotel property. If 40% of the property that he owns is worth ¥ 25 lakh, then
50% of the value (in %) of the Hotel property is:

T o T T Bleat i 1 12.5% T 21 AT 60 IHh! Ga ol Tl & 40% 68 1 qea % 25 @

2, 1 Sree WU 1 50% (T H) ? -
(A) Z2,50,00,000 (B) ¥3,50,00,000
(C) Z2,60,00,000 (D) T 4,50,00,000

(E)  Question not attempted / 3T a9y
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45  The following question consist of two words each of that have certain relationships between each
other followed by four lettered pairs of words, select the related pair that has the same relationship as
the original pair of words. (Choose the most appropriate option from below)

Insects: Entomology

(A) Tissues: Morphology (B) Humans: Psychology
(C) Diseases: Physiology (D) Humanity: Anthropology
(E)  Question not attempted

freferiaa wer o €1 wieq & R & Teieh o o=l Ush Weier B, 36k Ui Yisal o 9N S UM E, su e
T = L SIT WT6aT ok H SIS o A iy Ty gl (FH W & Fer 3Uh forehed )

hie: shie fagm
(A) Sadh: ATHI foH (B) HIH: HAITR
(C) o s foran fogme (D) HTEar: B ST 31 o (I
(E) SF7aia o
46  Which of the following is the State tree of Rajasthan?
(A) Khejri (B) Neem
(C) Peepal (D) Ashoka

(E)  Question not attempted
T3 o & o o TST 98 1 A Fai-

(A) G (B) Hm
(C) e (D) WH
(E) SFTdia g%

47  Urs at Ajmer Sharif is held in the memory of which Sufi Saint ? (Choose the most appropriate option
from below)
(A) Khwaja Moin-ud-din Chishti (B) Khwaja Sharif Dargah
(C) Khwaja Rais Ahmed (D) Sharif-e-Alam
(E)  Question not attempted

HSTH IR | 36 T SATAISH [oh8 b1 & ol T # TR ST 82 (i 3 & Jerd 39 forehed <)

(A) TSI HigT-3¢-EH Fargdt (B) TATSIT IR SR
(C) TAST EH 3T-HE (D) IRI%-U-ATTH
(E) rgafaws
48  Which temple is called ‘Khambon Ka Ajayab Ghar’?
(A) Shiva Temple of Bhandadevara (B) Sachchiya Mata Temple, Osian
(C) Saas-Bahu Temple, Udaipur (D) Jain Temple, Ranakpur

(E)  Question not attempted

Gre T FSTHET Tohy HieT T et ST 22

(A) fraufe, veeemn (B) H=<itaT HraT Hiew, anfemrt
(C) wmE-sg HidY, Ieax (D) S HfT, WA
(E) SF7aia g%
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49 ¥ 33.6 is the compound interest on a certain sum of amount for 2 years at 10% yearly rate of interest.
Calculate the simple interest on the same sum for same number of years and at the same rate of
interest.

T TS TR O 10% aTies a1 1 @ E 2 9 o 70 =1kl 5911 < 33.6 =1 36T TRT 9 FHH a9 §
TR T SATST 3L 9K AT ST Sl 0T il

(A) 36 (B) 34

(©) %30 (D) 32

(E) Question not attempted / 3‘1@?‘?@ EE)

50 What is the unit digit of expression 3251625 1 721428 | 531226 jg
Fieteh 3251625 + 721428 4 531226 F =mpd aiep T B9
(A) 2 B) 0
C) 4 D) 5
(E) Question not attempted / 3‘!’:@']"\{?[ e

51 g1 ol gehi-11 @ grfera shife ;

et -1 et -11
e EEUSUNC
a. A THE L Hewdm
b. gl wwE M. -
c.  OqEY qHH I e
d. FEudH IV. 3R
et fow e ferepedi & wE e IR ST MY ;
(A) a-1V,b-MLc-ILd-1I (B) a-1V,b-Lc-1II,d-1Il
(C) a-1V,b-ILc-ILd-1I (D) a-1V,b-ILc-Ld-1I
(E) SF7aia o

52 -1 g1 @ gHfed i :

T -1 Tt -11
e LRIREIEI)
a. ‘?C[%ﬁ I. <AYeAT
b.  fersreft . s/
c. HAA . femr
d 3Ha IV. Ut
= fow e foepedt & Faifier ST ST ;
(A) a-ILb-IV,c-IId-1I (B) a-ILb-Ic-IV,d-III
(C) a-ILb-IV,c-IId-I (D) a-IV,b-I,c-IILd-1II
(E) SFdia g%
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53 T vse o foru fmforfiaa & @ foei wree 2-

a. Hrer b. @fiﬂ
c. EED d. s
€. oy
et fow T fereredt # & wiaIiieren Sh 3T T < T
(A) Hada, b3 d (B) HaaTb,d3MTe
(C) HaAb, c 3R e (D) HaADb, ¢ 3 d
(E) rgaiaws
54 Ik T1eg ‘e’ i feferfad | @ e 31 78 2-
(A) @ (B) T
(€) uq@ D) T
(E) SF7aia o
55  IFa & fore fmfafad § & gt 3w foreii wrea -4 22
(A) = (B) FoEN
(C) ST (D) SARH
(E) SFTaia g%

56  Which of the following Vitamins is required for the clotting of blood?
frfaiRad # & SF-|T foeTfie Th T Ue-hT STHA o 7T STTawe 82
(A) A (B) B,
©) K (D) D
(E) Question not attempted / 34':@'?{?[ EE)

57  Match List-I with List-11.

List-1 List-11
a. Motion L Displacement per unit time
b.  Speed II.  Change in velocity per unit time
c.  Velocity III.  Change in position
d.  Acceleration IV. Distance covered per unit time
ERiSEXIRE GBI ERERIEEAIELY

a1 TE-11
a.  TdEH (FIRE) I 3R v § foeeme
b. I/ THER . i 3orE 99 § o ¥ aiEe
c. o/ Tfa (S . feufa o ufeds
d. &/ St IV. 9 3ohTS @ § o =1 T8 gl

Choose the most appropriate answer from the options given below:

it fow T forehedt § @ @afferes 3ug 3Tl 99 IS

(A) a-1V,b-ILc-1I,d-1 B) a-Lb-Il,c-1I,d-1V
(C) a-NLb-1IV,c-1L,d-1I (D) a-1V,b-I,c-1,d-1II
(E)  Question not attempted / ?ﬂfﬁlﬁﬁ EE
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The normal blood pressure in human adult is : (Choose the most appropriate option from below)

(A)

(B)

©)

(D)

(E)

Systolic pressure (mm Hg)

Diastolic pressure (mm Hg)

80

120

Systolic pressure (mm Hg)

Diastolic pressure (mm Hg)

120

80

Systolic pressure (mm Hg)

Diastolic pressure (mm Hg)

100

120

Systolic pressure (mm Hg)

Diastolic pressure (mm Hg)

140

90

Question not attempted

TG H H |1 Teh =19 fohe1 rar & 2 (P o & Hedl S forshed =)

(A)

(B)

©)

(D)

(E)

e 3 (ﬁﬂzzfz%) (Foeft wers) | srgferfirer ame (@?j)ﬁiﬂ?) (Freft wersr)
e < (ﬁRl“fSi)‘cﬁ) (Freft wers) | srgferfrer are (w;ﬁﬁﬁ) (Freft wers)
g I (Reetfers) (Freft warstt) | ergfie < (stweiivs) (fredt warst)
100 120
e < (fwli‘l)ﬂf) (Foreft wersl) | srgferférer are (gﬁj)‘lﬁﬁﬁ) (Freft wers)
AR I

Given below are two statements:

Statement (I): Rajasthan is rich in minerals and is fast emerging on the industrial scene of the

country.

Statement (IT):
Debari (Udaipur)and Hindustan Copper plant at Khetri Nagar (Jhunjhunu)

Important Central undertakings in Rajasthan are Hindustan Zinc smelter plant at

In light of the above statements, choose the most appropriate answer from the options given below.

(A)
(B)
©)
(D)
(E)

Both Statement (I) and Statement (II) are correct.

Both Statement (I) and Statement (II) are incorrect.

Statement (I) is correct but Statement (II) is incorrect.

Statement (I) is incorrect but Statement (II) is correct.

Question not attempted

i g7 e feu U E:

Y (I): TSI WS & TYF € 371 397 o 7efien afgea & oS ¥ S| @2

AT (II): TSI H Hecaqui heitd SushH Egear fofsh Tt wiie, Somll (I5a9Y) # a9 feged™ it
T Wl T () | €|

ST T o HATA |, 1=l U T Forepedt W & @) 3uge ST |
(A) e (1) 3T HAA (11) SHT Tt &)
(C) A (1) el & AT e (1) TTeTd 2

(E)
%

ST T

17

(B) e (1) 3 A (IT) ST & 7T &
(D) A (I) TeAd © Afeh B (1) T Rl

[ P.T.O.
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60 Match List-I with List-I1.

List-I List-11
Sites/Fair Place
a.  Gagron L Jhalawar
b.  Kumbhalgarh I.  Jaipur
c.  Amer III.  Rajsamand
d.  Kaila Devi Fair IV. Karauli
Ffl-1 o Erer geft-11 3 forer g
Tei-1 Teit-11
TYTA/HEAT T
a.  TTRH . HdEE
b. TG . SR
c. MR L. TSEa<]
d.  ha ot Hel V.
Choose the most appropriate answer from the options given below:
it fow T forehed! € @ard 3G I |
(A) a-1V,b-1Il,c-1,d-1I1 (B) a-IlILb-I,c-II,d-1V
(C) a-IV,b-Il,c-II,d-1 (D) a-Lb-I,c-II,d-1V

(E) Question not attempted / @aﬁﬁﬁ 99

61 In the question given below, find the figure given in option figures, from that we can form the Target

figure.
it fow Qw21 § foreheq STeR(a | € T8 STehid I @ISt STaE T SATR(d a15 ST Hehel! 2l
Target figure / 31'@3‘!'@%
A"
N
\% N

w | O O ® | O=0

I = :

N N
(€) O v (D) Q * O
_v_

(E)  Question not attempted / 3T a9
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62  The ratio of boys and girls on a ground is 4:3. Out of the given options below which of the following

could be the actual minimum number of students?

T HEM T Ageh! ST ASTRT b1 3TATA 4:3 81 o fow e foremedt # & foremfelart ot ameafere =paw gen

T B Hehell 87
(A) 35 (B) 21
(C) 24 (D) 11

(E)  Question not attempted / 3T a9

4
63  The simple interest of a sum of money is Eth of the principal and the yearly rate of interest is equal

to the number of years. Calculate the rate of interest.

Teh GRITRT 3T AT TS, e 1 215 THT 2 ST aTfiier TSt oY 2T AT ol T o SR B ST AT

TUHT Y
(A) 4% (B) 2%
©) 3% (D) 4.5%

(E)  Question not attempted / 3T T 9g

64  Who was the founder of ‘Kamadia Panth’?
(A) Mehaji Mangalia (B) Ramdev Ji
(C) Dev Narayan Ji (D) Kamal Kishore Ji
(E)  Question not attempted

“SHTATSAT G2 o AT ohi- o2

(A) TSI HFTfetaT (B) Twa it
(C) T Ao St (D) A fohamT Sft
(E) SFdia o

65  Which of the following texts is not composed by Jambhoji, the founder of Vishnoi Sect? (Choose the
most appropriate option from below)
(A) Jambh Samhita (B) Jambh Sagar Shabdavali
(C) Vishnoi Dharamprakash and Jambhsagar (D) Jambh Saakhiyan
(E)  Question not attempted

frfafaa & & w1 gy s duem o deume Sest g/ a T8 22 (e 6 @ wo S0

forshe =)

(A) Sty Hfgar (B) SV OTR vreeTaett
(C) Torsng enfyenrer SR SvEmR (D) Sy @fgam

(E) SF7aia g%

X31] 9, 19 [ P.T.O.



https://applink.adda247.com/d/XhqWf9lSap

Adda247

66 In the given question, a statement followed by two conclusions numbered I and II. You have to
assume everything in the statement to be true, then consider the two conclusions together and decide
which of them logically follows beyond a reasonable doubt from the information given in the statement.
Statement : People who vociferously condemn the practice of dowry are those who had taken it

themselves.
Conclusion : I. It is easier said than done.
II. People have double standards.
In light of the above statements, choose the most appropriate answer from the options given below:
(A) Ifonly conclusion I follows. (B) If only conclusion II follows.
(C) If neither I nor II follows. (D) Ifboth I and II follows.

(E) Question not attempted

f3U T 721 ¥ Wk o ok v a1 fseh [ ST 113U 70 &) STT9eh! e oh 6 W L I8 T AT © foh i
TR TohETT &9 8 e | &1 TS T AT SATET L
A ¢ ST TANT Gost WoIT 3hi el a1 d & of el @ & Fofeei 36 g foram ol

TSRy 1. T ST 2 QifohT T Hivehed o

I1. AT o STeY HIUES 2l

SUh Ul o STl § e foshedl 3 @ #arg 309w S I

(A) et FThs [ T80 LT 2 (B) et T [ STER0T el
(C) ATaTISTRATE =y [1 TR @2l (D) Fead [ 3T 11 T SR L &
(E) ATl 9

67 In the following series some letters are missing. From the choices, select the choice that gives the
letters that can fill the blanks in the given sequence.
il sierer o o 37er oW 8| forskedl § 9, 34 forshed o1 == =y, St faq TQ 31gspm ek Tl 6t
¥ aTCT 7&K i odT &

U W Vuvwuu w
(A) uwvuvw (B) wvuuvw
(C) vuwuvw (D) vwuwvyv

(E)  Question not attempted / 377 a9y

X31] 9, 20 [ P.T.O.
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68 Who invented e-mail?

(A) Charles Babbage (B) Timothy

(C) Raymond Samuel Tomlinson (D) Alexander Graham Bell
(E) Question not attempted

-1 T TR ford FoRam?

(A) =ITed s (B) femreft

(C) e dqeTa Zmfcied (D) STcITISt UTeH S

(E) SFdia g%

69  “Human Geography is the study of the changing relationship between the unresting man and unstable
earth”. Who said these words?
(A) Ratzel (B) Paul Vidal
(C) Ellen C Semple (D) Rousseau
(E) Question not attempted

“TT T ST AT SR SRR Jeall o sffel sIgerd Heleli o1 ST 8748 o foh Far?

A tesd S RRISEIEES]
(C) Ueld Ht vaet (D) wET
(E) SFia g

70  What are the remains of the dead plants and animals trapped in the layers of rocks are called?
(A) Sedimentary (B) Metamorphic
(C) Fossils (D) Igneous
(E)  Question not attempted

T T T H G, T GTe S ST oh ST 3, T ShaT ST 22

(A) TG (daTsd) (B) ®Uidid
(C) Shamm (D) AT
(E) raia g

71  According to the 2011 census, which of the following is the most populated district of India?
(A) Thane (B) Lucknow
(C) Mahe (D) Ajmer
(E)  Question not attempted
2011 3T STATUHT o STTEW, 57 5 8 S o1 @ar 3725 SATeTaT aret fofelT hie-a1 82

(A) 3 (B) TGS
(C) T (D) 3T
(E) ATl 9
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72  Match List-I with List-I1.

List-I List-11
Lok Sabha Speaker Name
a. I Speaker of Lok Sabha L. Ms. Sumitra Mahajan
b. I Speaker (Tribal) II.  Meira Kumar
c. I Speaker (Female) III.  Ganesh Vasudev Mavalankar
d. I Speaker from Indore, IV. P. A.Sangma
Madhya Pradesh
-1 9 g=f-11 1 foreT hifrg)
Teit-1 TEit-11
TREANT AT aw
a.  TAHEWT o ToH TR L i gl qese
b.  TUH 3TeFeT (JAMfeaTH) II.  HUFAR
c.  TUW YeIe (Higem) I TTORT T AT
d. IR, HET YO § o ITEIE v. o u g
Choose the most appropriate answer from the options given below:
et fow T forehed! § € @ard UG I |
(A) a-Lb-Ic-1I,d-1IV (B) a-IV,b-Ill,c-1I,d-1
(C) a-II,b-IIc-1,d-1IV (D) a-NILb-1V,c-1I,d-1

(E)  Question not attempted / 377 TGRS

73 Who is the author of the book “Economy of Permanence”?
(A) K.N.Rgj (B) P.C. Mahalanobis
(C) J.C. Kumarappa (D) Satyajit Ray
(E)  Question not attempted
‘$°h|"||‘-r| HTH YHTHH i;hdlqa"-»ﬂ@l‘* @7{%‘7

(A) HT IS (B) . TR
(C)  SET. AR (D) ¥
(E) SF7aia g%

74  “Sanjha Abhiyan - Bal Vivah Mukt Rajasthan” has been launched in the Rajasthan State with the

Support of;
(A) UNFPA and UNICEF (B) MNREGA
(C) UNDP (D) Kalamanch

(E)  Question not attempted

“HIAT SATHAT - 1A TofaTe Heh USTEAT,” 2Rl TSTET TS H forbrh Tt o 37% forarm e

(A) I . T 9. T ARIES (B) TEET (MNREGA)
(C) I .. (D) heAHd
(E) raia g
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75  Operating system can be classified as: (Choose the most appropriate option from below)
(A) System software (B) Application software
(C) Programming tool (D) System utilities
(E)  Question not attempted

Hrqufen fereen st afiepa foram ST @kt &: (e o & Hort 39k forehed =)

(A) foreen diweat (B) UCcAThH EHaR
(C) i e (D) foreen gfefady
(E) SFaia g%

76  Which of the following is not a characteristic of High level language? (Choose the most appropriate
option from below)
(A) Machine Code (B) Platform independent
(C) Interactive execution (D) User friendly

(E) Question not attempted

frfeiiaa ® & -6 I5a1 Tale WToT oht ForRIoT et 82 (FF 3 & 6o S foshed )

(A) T HE (B) WIEHH U<
(C) 3RS THREH (D) IS Sheedl
(E) rgaia g

77  Who propounded the theory of origin of Rajputs through Agni Kund? (Choose the most appropriate
option from below)
(A) Chandbardai (B)  Amir Khusro
(C) Chandershekhar (D) Barni

(E)  Question not attempted

A S o HTEAH © TSAT hT IedTeT hT i fore Sfete foram? (e 7 & we 3w foreped =)

(A) TCHETE (B) SR EgE
(C) T<WRR (D) s
(E) SFaia g%
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78  In the context of First Cabinet of Free India 1947

Match List-I with List-I1.

List-I List-11
Member Portfolio held
a.  Sardar Vallabhbhai Patel L. Communication
b.  Rafi Ahmed Kidwai II. Law
c.  Dr. Shyama Prasad Mukherjee II.  Industries & Supplies
d.  Dr. B. R. Ambedkar IV. Home, Information & Broadcasting
T T (1947) o T hfeH & T &
Ffl-1 & -1 37 firem hifsg)
a1 TE-11
G2 oAt ug / W T AR
a.  TGR IeUT Ued I #E9R
b. T 3TeHT fohgas 1. s (Fafe
c. Sl VI YT qasit I 3ENT SR Smgfd
d. Ml IR g IV. &, ¥ S TERor
Choose the most appropriate answer from the options given below:
it fow T forehedt § & @ard UG I Tl
(A) a-Lb-ILc-IId-IV (B) a-1V,b-1,c-TI,d-1I
(C) a-IV,b-IlLc-1I,d-1 (D) a-NLb-I,c-1,d-1V

(E)  Question not attempted / 3T a9

79  Who of the following was not a member/part of Drafting Committee of Indian Constituent Assembly?
(A) B.R. Ambedkar (B) N. Gopalaswami Ayyangar
(C) Syed Mohammad Saadullah (D) Jawahar Lal Nehru

(E)  Question not attempted

e 8 9 o i i g i area affa o ges/fewar 7@ o

(A) . AR, TS (B) U, MYTeRaTH} 31T
(C) IS HIEHTS HIGedTe (D) SIERIANA 2%
(E) SFdia g%
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80 A metal which is soft and can be cut with a knife easily is - (Choose the most appropriate option
from below)
(A) Sodium (B) Mercury
(C) Copper (D) Carbon
(E) Question not attempted

e - 1 S =T & AT 8 H1el ST Hedl & - (P o & e 3wy forshed =)

(A) wifead (B) UM
(C) dfam (D) HIEA
(E) SFdia g%

81 Identify which of the following processes are chemical changes?

a. Photosynthesis b.  Melting of wax
c. Rusting of Iron d.  Digestion of food
e. Condensation of steam

Choose the most appropriate answer from the options given below:
(A) b,candd (B) a,candd

(C) a,b,candd (D) a,c,dande
(E) Question not attempted

frfefaa @ -5 ufsRame qamte giEd 82

a.  ToRTST HSINUT (BIIIHE) b. I T e
c. TIRH S ERHE d.  WISH 1 9=
e. YT S T (FreTaTM)

it fow T forehedt & waffares 3uge 3Tl 95 HiSg;

(A) b,c3d (B) a,c3Md
©) a, b, c 3T d (D) a,c,d 3T e
(E) SFTaia g%

82  Which one of the following metals is most ductile?
(A) Gold (B) Silver
(C) Copper (D) Aluminium
(E)  Question not attempted

et & & -t a1 o st o (e 37

(A) @M (B) =fdr
(C) e (D) UggHifrrm
(E) raia g
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Which school is best known for its Bani Thani Paintings?

(A) Bikaner School
(C) Kishangarh School
(E) Question not attempted

(B) Jodhpur School
(D) Dhaulpur School

- QA 31t o+ S Ufd % o ged S99 ST ST R 2

(A) ST et
(C) Torerme Rt
(E) SFia g

(B)  SIe Rredt
(D) AR At

“Maaru thare desh me upje teen ratan, ik dhola, dooji marwan, teejo kasmool rang”

Which colour is kasmool? (Choose the most appropriate option from below)

(A) Orange
(C) Black
(E) Question not attempted

(B) Red
(D) Yellow

“TTE A 931 & 31 I T, 3o GIet, it AR, il shaeer 7
UV T -G T BT 82 (e o & ot 39 forehed =)

(A) Hadl (AT
(C) Tl
(E) i g

Match List-I with List-11.

List-1
Ornaments
a. Pipalpatra
b.  Damna
C. Borla
d.  Thussi
-1 o1 FE=Ai-11 9§ e hifsrg)
Teil-1
T
a. BiCRED
b.  QEHAT
c. @Ral
d — g&i

O

(B) drat

(D) e
List-I1
Organ / Body Part

L. Neck

II.  Forehead

II.  Finger

IV. Ear
Tei-11
3T

L T

1. =ren

. 3t

V. &H

Choose the most appropriate answer from the options given below:

et few e fereredt o @ warffares g S|

(A) a-IV,b-Il,c-1I,d-1
(C) a-II,b-Ic-II,d-1V
(E)  Question not attempted / 37 T ayg

%

26

(B) a-Lb-ILc-IV,d-II
(D) a-MLb-1V,c-1I,d-1
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86  Who among the following played the most important role, in the National Unification of Independent

India?
(A) Pt. Jawahar Lal Nehru (B) Dr. Rajendra Prasad
(C) Dr. B.R. Ambedkar (D) Sardar Vallabhbhai Patel

(E)  Question not attempted

T 3 9 foher Tarclar I o TR TohTahtoT H et Heeaqul Hftveht s oft?

(A) . TR AT e (B) <. TN 5918
(C) <. .31, gt (D) HIER TeAYHTS U
(E) SFdia I

87 In Rajasthan “Bharthari fair” is held at -

(A) Sikar (B) Udaipur
(C) Alwar (D) Bundi
(E)  Question not attempted

RS i ety er Fhe TR B 22

(A) R (B) IR
(C) (D) o
(E) SFaia g%

88 In which month is the festival of ‘Kajali Teej’ celebrated in the Bundi?
(A) Phagun (B) Bhadrapad
(C) Chaitra (D) Shravana
(E) Question not attempted

St T STl TSt ShT CATER ol HTE H HHATT ST &7

(A) I (B) ¥TSUg
(C) = (D) &
(E) SF7aia g%

89 A program that modifies/infects other programs by changing/modifying them is called - (Choose the
most appropriate option from below)
(A) Engine (B) Virus
(C) Antivirus (D) Crime
(E)  Question not attempted

€ T ST 37T Ty o Iiafcd/ A shich 3we Hniierd/dshitrd ar 8, I8 el e- (R 3 & ae

39 forehed )
(A) T (B) dmH
(C) wodrEmRd (D) shrgH
(E) SFaia g%
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90  Which of the following is not an example of structured data?
(A) Sales transaction (Point of Sale) (B) Online railway ticket booking
(C) ATM transactions (D) Audio and video files
(E)  Question not attempted

frefefaa & @ sa-ar gefua srer 1 Seer 7@ 22

(A) Tosht o a7 (forshr o) (B) TS tetdl feshe qfehm
(C) T AT (D) Atfear 3R difeat wget
(E) SFdia g%

91 Under which scheme in Rajasthan widows, divorced and abandoned women have been provided
with pension?
(A) Palanhar Yojna (Rajasthan)
(B) Mukhya Mantri Naari Samman Yojna
(C) Mukhya Mantri Ekal Naari Samman Pension Yojna
(D) Mukhya Mantri Yogya Naari Samman Pension Yojna
(E)  Question not attempted

TRy ATSTT o6 ST TSReT H forerdT, TeITehsIat S aierh Aigarratl sl U Ya ol T8 87

(A) UTCTER ATSHT (TSTEAT) (B) HGHHST TR GHATH IS
(C)  HEFHs Tohel TR FT YR IS (D) HEIwHT AT AR HHT U AT
(E) SFdia g%

92 In Rajasthan, according to MSME Policy 2022 where the investment in plant and machinery or
equipment does not exceed 3 1.00 crore and turnover does not exceed X 5.00 crore is called:
(A) Small Enterprises (B) Medium Enterprises
(C) Micro Enterprises (D) Macro Enterprises
(E)  Question not attempted

TSTEAT H THOETAS fifT 2022 o SATER, SET wie 3T AR A1 STH0T H a1 1.00 S & 7o T
2 ST eH3TeR T 5.00 U U 31fereh el R, 1 T el ST 22

(A) 3T (B) W 3TH
(C) fd oy 3w (D) 93 W
(E) SFdia g%

93  National Income in India is estimated by:
(A) Niti Aayog (B) Bureau of Economic Analysis
(C) National Statistical Office (NSO) (D) Finance Commission
(E)  Question not attempted
IR H TS ST ShT STTAT fofersh ST ST ST 22

(A)  Hife st (B) 3ATIeleR fersgwor U0
(C) T wifteshl e (NSO) (D) T smmT
(E) SFdia g%
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94  Who was the writer of “Sare Jahan se Achchha Hindustan Hamara™?
(A) Mohammad Igbal (B) Mohammad Sultan
(C) Mohammad Salamat Ali Khan (D) Mohammad Ibrahim

(E) Question not attempted

R STET ST (EqEd HNr o i@ i o 2

(A) HIEHIE et (B) HIEHE god™
(C) TIEHAE HATHd 3Tt @ (D) HEWE TSMen
(E) SFia g

95 “Long years ago we made a tryst with destiny, and now the time has come when we shall redeem our
pledge, not wholly or in full measure, but very substantially. At the stroke of the midnight hour, when
the world sleeps, India will awake to life and freedom”

Who gave this famous speech?

(A) Mahatma Gandhi (B) Khan Abdul Gaffar Khan

(C) Jawahar Lal Nehru (D) Sardar Vallabhbhai Patel

(E) Question not attempted

TG AT T8t T TRl i THeT o1 Teh e FolT ot ST 3791 |y 311 701 & STl §F 3701 QST 1T,
gl T T HE O HE H wfeh Sgd 319 9 H| ST Ut ok T, S g A 2t s sta
HIT T hl 3 Y8 o WY IS I8 feig, 10 feh fera?

(A) TRTCHT Tieft (B) WM gl THHR G
(C) SaTe AT & (D) UG JcITE et
(E) SAJaid 9

96 Under whose leadership was the abolition of Sati Pratha and remarriage of Hindu widows introduced?
(A) Lord William Bentinck (B) Lord Curzon
(C) Lord Hestings (D) Lord William Luis

(E)  Question not attempted

forereh Yefcer H Treft e St e JuTe g8 37 fég fereramadt sht qfefare ot srgafa forett

A) e faferaw afsw (B) TS hoid
(C) i (D) e faferm 5@
(E) raia g
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97  Identify appropriate statements regarding Rajasthan.
Govt. of Rajasthan launched Indira Rasoi Yojna on 20" Aug., 2018.
Rajasthan is not a dry state in terms of alcohol prohibition.
c. Indira Gandhi Urban Credit Card Yojna is a scheme launched where loan was made available
for street vendors of the urban area.
d.  Nirogi Rajasthan Abhiyan was launched on 18" Dec., 2019
e. Mukhyamantri Nishulk Janch Yojna is about Animal Husbandry in Rajasthan.

Choose the most appropriate answer from the options given below:

(A) a,bandc (B) b,candd
(C) c,dande (D) b,dande
(E) Question not attempted

TSTET o Ha § IUgh o shi Te=l|

a. TSR LRI A $feXr THIS AISHT 20 ST, 2018 I I[& |

b, TSTEAM YRS % HIHC H Toh 5 T4 4 2

c.  sfe il e hige TS JISHT Uk HT AT TIeATs TS foreH el & & e 9l o foT /T
JUTSE FHTAT T

d. Rt TS SR 18 fees 2019 i 7% form

e. A f.3[ce STa AISHT TSEAH H IR[IIEH o T H 2

et fow e ferepedt W & warifares g St |

(A) a,b3Rc (B) b,c3d
(C) ¢, d3Re (D) b,d3We
(E) SFJaia g

98 When was Rajasthan Wasteland Development Board reconstituted as Wasteland and Pasture
Development Board?
TSTET SISTL i ForehT 1S T TAIS ol SIS M{H Uel R forhre oS o &9 # foram it o
(A) 2015 (B) 2016
(C) 2019 (D) 2020
(E) Question not attempted / 3‘!@3’?’\?{ EE

99  Mid Atlantic ridge is an example of
(A) Divergent Boundaries (B) Convergent Boundaries
(C) Transform Boundaries (D) Tri - Junction Boundaries

(E)  Question not attempted

T ITTAT(h Hhh T T IS 2

(A)  rgETd (=) dimret (B) Al dimrent
(C) ufafda Hurs (D) F-Siorr wmret
(E) SFTaia g%
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100 Which one of the following is a depositional landform in Rajasthan’s desert? (Choose the most
appropriate option from below)
(A) Pediments / Footpath (B) Playas
(C) Sand Dunes (D) Mushroom Rock

(E)  Question not attempted

freafafad & & SH-H T TS & Teed § STeaTers (Fermumes) o-1mefd 82 (Fe 8 @ g9

39 forehed )
(A) ufeHe/ pearer (B) gdt et
(C) @ (D) HIREH =EH
(E) SF7aia g%

101 Fill in the blank in the given sentence, choosing the appropriate answer from the options provided:
You can only alight once the train
(A) Stop (B) Stopped
(C) Stops (D) Stopping

(E) Question not attempted

102 Match List-I with List-II.

Fill in the blank with the most appropriate preposition.

List-I List-11
Sentences Preposition
a. Raman drives to work, not choice, I. To

but out of compulsion.

b.  Ravi asked Sunita to take the dessert out II. In
of the freezer and getitserved  once.

c. Atul thought he had mastered the concept, III. By
but realized there was more it

d. I offered my younger brother a IV. At
chocolate ~ exchange for letting me watch

my favourite programme on T.V.
Choose the most appropriate answer from the options given below:
(A) a-Lb-ILc-II,d-1V (B) a-I,b-ILc-1V,d-1
(C) a-IV,b-I,c-1I,d-TII (D) a-MLb-1V,c-1,d-1I

(E) Question not attempted
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103 Fill in the blank in the given sentence choosing the most appropriate prefix from the options given

below.

Newspapers gave an accurate story of the accident.
(A) Anti (B) De
(€) In (D) An

(E) Question not attempted

104 “Ek Bharat Shrestha Bharat” was announced on the occasion of the birth anniversary of the following:
(A) Mahatma Gandhi (B) Maulana Abul Kalam Azad
(C) Raja Ram Mohan Roy (D) Sardar Vallabhbhai Patel

(E)  Question not attempted

“Teh RA I8 TR Al SoTT 07 8 9 FoRwehl S Srieft o et ot 3 g off?

(A) TETeHT Tieft (B)  HITIHT A hHelTH ATSIG
(C) TSI UH HIg U (D) @R JCAIvHTS 9ee
(E) SFdia g%

105 “Parijatavtaran of Bhagwat Purana” is the work of which Mewar painter? (Choose the most appropriate
option from below)
(A) Nana Ram (B) Udai Singh
(C) BanaRam (D) Ram Singh
(E)  Question not attempted

eIl 10T T UTHCSIT STqeor” o Hafrs Femrehit =hl shfer 22 (et o & Tt Sugeh ferehed <)

(A) TETTH (B) 3eafdE
(C) «ETIH (D) W fHE
(E) SFdia g%

106 =fcrRaa & & -8 a1 Fjar=a I &2

a. T SR ST 8 b.  HIET W greT A&l S
c.  3HY Tl T @I STl d. g I it )
e. =3 9Id B

it fow T forehedt © & Taifeeh 3Ugwh ST T =2 shifeTu:

(A) FHaAb, ¢ 3R d (B) acTa, b3 d
(C) HacTa,d3fRe (D) wHaeic,d AR e
(E) SF7aia g%
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107 F=-1 31 G=ii-11 & gferd shifery :

el -1 et -11
AT 98 I
a. &0 I 3T
b. @R .
c. BAEr . 3
d. = Iv. 3t
it fou T foreedt © & Tt ST St T :
(A) a-1V,b-Tl,c-II,d-1I B) a-MLb-Lc-I,d-1V
(C) a-ILb-1V,c-1,d-III (D) a-Lb-1V,c-1ILd-III
(E) SF7aia g%

108 Fill in the blank in the given sentence, choosing the most appropriate word from the options given

below:

A great amount of damage was caused  the cyclones.
(A) By (B) From
(C) Into (D) Among

(E)  Question not attempted

109 Fill in the blank in the given sentence, choosing the most appropriate word from the options given
below:
The meeting was called off  the public protests.
(A) Inview of (B) When
(C) Inthe event (D) Asaresult

(E)  Question not attempted

110 In which year the Rashtriya Indian Military College (RIMC) was established ? (Choose the most
appropriate option from below)
T Sfear THicTdt hieisT (ST, 31S. Uh. &) 3hY TorToT foer e o g3 off? (1 & werdt SwRyehs forehe =)
(A) 1920 (B) 1921

©) 1922 (D) 1923
(E)  Question not attempted / 377 T ayg
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111 Who composed National Song “Vande Mataram” ?
(A) Rabindranath Tagore (B) Bankim Chandra Chatterji
(C) Bipin Chandra Das (D) Vipin Mukhopadhyay
(E)  Question not attempted
TG T “dis HTae” ol T fora a2

(A) Teg T TR (B) o <5 =resit
(©) fofom=rsam (D) fafte g
(E) SFdia g%

112 Who built the Siwana fort which is located in Rajasthan?
(A) Allauddin Khilji (B) Seetal Dev
(C) Veer Narayan (D) Chandrsen
(E)  Question not attempted
Trere § T e fora forer s

(A)  ITASEH Raersh (B) Hidelea
(C) R (D) =58
(E) SFdia g%

113 In Rajasthan ‘Pabuji’ is worshipped / recognised as the God of : (Choose the most appropriate option
from below)
(A) Camel (B) Horse
(C) Cow (D) Deer
(E)  Question not attempted

TS 21 foher oIt o &9 H G/ /AT STl @2 (1 H § Horet SWeh forehed =)

(A) e (B) Hrer
(C) T (D) fewor
(E) SFdia g%

114 If you have to organize the following data:-
Roll no., Name, Class, Section, Parents Name, Address, Contact number;

Then which is most convenient method for data representation?

(A) A bulleted list (B) A list separated by tab
(C) Atable (D) A paragraph

(E)  Question not attempted

afe smToeRt frefefad grer st saafkerd e 2:-

A I, T8, HeT, formT, Arar-ToaT st =, 9aT, H9eh ST
T He GloUTSeh TLIehT hiH-8T 872

(A) U Ioies geft (B) 3 T ST Y ¢ T
(C) U QTICTRT (IoTe) (D) U T
(E) SFdia g%
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115 Which of the following actions does not “change the font”? (Choose the most appropriate option
from below)
(A) Size 10 point (B) Indentation 1.5 inch for left as well as right
(C) Adding date in foot note (D) Underline style - a simple line
(E)  Question not attempted

frmfarfad o & - form <wiee 78t sreerdt 2 (e o & Jerd 39 forehed <)

(A) 10 TS ASST (B) oTE 37T I o foTw 1.5 31 3raev
(C) e | famish sire (D) T@iferd Feft - Tk Tt @
(E) SFdia g%

116 How to open a blank document in MS-Word? (Choose the most appropriate option from below)
(A) Start system — click on windows start — select open word (Blank document)
(B) Click on start — click on programs — click on MS-Word
(C) Click on start — click on programs — click on MS-Paint — select Blank document
(D) Click on start — click on programs — click on MS-Word — select Blank document
(E) Question not attempted
TH UH 9IS H Ush WTel! STHRIHE i hl @iei? (1 H & werd 3ugh forshed <)
(A) s fereem  Reidion weré v Fereh aht s o Wi (et <)
(B) %I W fereteh i — T1TH R fofeteh ohi — UH-UH &€ W fofeteh i
(C)  &2TE W foreTeh h{ — I WX fofeteh o — WH.T8 U2 WX fofeteh ol — el SToRpe <
(D) &2TE W forereh 3l — I O fofeteh ol — U.08 € WX foreteh hl — Tt SrerpHe I

(E) <134 a9g

117 In Rajasthan “Under one district one product” Rajsamand district is famous for:
(A) Psyllium Husk (B) Terracotta
(C) Garlic and Theva Art (D) Granite

(E) Question not attempted

TSTEA | Uk {71 Ueh 3cUTe” o dgd Tstave forer foraar fore uftrg 27

(A) @Tgierad qHT (B) STRIRT
(C) &G SR T Hell (D) e
(E) SFTdia o

118 When was New Economic Policy introduced in India? (Choose the most appropriate option from

below)

st 3 7§ a1fes <ffer s g o 2 (ot 3 @ wrardt g ferehe )
(A) 1980 (B) 1989

(C) 1991 (D) 1994

(E)  Question not attempted / 377 a9y
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119 In which year Rajiv Gandhi Jal Sanchay Yojna (RGJSY) was launched?
Trofter TTieft STet S AT (TS S TF o) shel. 3 01 7T off?
(A) 2016 (B) 2019
(C) 2021 (D) 2024
(E) Question not attempted / 3‘!@3’?’\?{ EE

120 Doctor prescribed a woman to wear spectacles of —6.0 Diopters power for correcting her vision. She
is suffering from which defect and what should be the focal length of the lens?
(A) Myopia, f=-1.67 centimeters (B) Hypermetropia f=—1.67 metres
(C) Myopia f=-1.67 metres (D) Hypermetropia f=-1.67 centimeters
(E) Question not attempted

ST A Tk HigedT shl Y a1 gL T o feTT —6.0 SR TTeR T =I9HT T =hl TeTe i 98 fohe gig 2

& tfifsq & T o 1 BieE g T B =TT

(A) TaegfEam, f=-1.67 8 (B) <A, f=—1.67 HX
(C) Tegfam f=-1.674x (D) <P f=—1.67 G=HieT
(E) SFdia g%

121 Match List-I with List-I1.

List-1 List-11
Minerals Use in human body
Zinc L. To make haemoglobin
b.  Calcium II.  Control the composition of body fluids
c. Iron III.  Helps the body to fight against bacteria
and viruses
d. Sodium IV. Healthy teeth and bones
GeA1-1 o |1 geft-11 o et shife
Teit-1 Tei-11
CIES | AAE IR | ST
a. = I SRl a9 % g
b. ohfoed . SR aEt UaTet oh! TeT ol IR et
c. FREE I YRR AT ST HhH0T & -
LECEGIR
d. @ifemm IV. @ 3iq IR sgfeat

Choose the most appropriate answer from the options given below:

et fow e ferepedt W & waee TR 3T T =3 I

(A) a-NILb-1V,c-1,d-1I (B) a-1V,b-IlLc-1I,d-1II
(C) a-I,b-1IV,c-1II,d-1 (D) a-Lb-I,c-1I,d-1V
(E)  Question not attempted / ?ﬂfﬁlﬁﬁ EE
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122 Full form of DNA relating to biology / medical :
(A) Deoxyribonucleic Acid (B) Deoxy Neurological Aid
(C) Dioxide Numerical Acid (D) Department of Nursing and Assistance
(E)  Question not attempted

DNA 1 SRITATST 3R HEtehet & Heieg H Y01 &9 471 87

(A) festadisa=gfaas tfire (B) fesiterdt =iciiforret ge
(C) <Tg3iTaTES ~Hitsha Tfee (D) feurdiwe it Ffdfn ig enfore
(E) SAJaid 9

123  On 1* August, 2021,Ghar Ghar Aushadhi Yojana was launched by which state?
(A) Odisha (B) Rajasthan
(C) Punjab (D) Maharashtra
(E) Question not attempted

1 31T, 2021 % TR H & forg T2 H B BT ST A1SHT 3% Al T1S2

(A) Snfesm (B) TSEYH
(C) UE (D) WENISE
(E) SFdia g%

124 Keoladeo Ghana National Park is located in which district?

(A) Dhaulpur (B) Sawai Madhopur
(C) Bundi (D) Bharatpur

(E)  Question not attempted

heeTTed TT TS Ie fohe et o feera 29

(A) R (B) e HTE
(C) =t (D) WA

(E) SFdia I

125 Name the Baori near Dungarpur which was built by Rani Premal Devi?
(A) Naulakha Baori (B) Rani ji ki Baori
(C) Chand Baori (D) Trimukh Baori

(E)  Question not attempted
TR o TTE 261 SISl ohT 18 ST, forl T It <oft 3 srermm o2

(A) e SaEr (B) THT St it smargt
(C) g srere! (D) P et
(E) raia g
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126 Which of the following was not the major dynasty of South India?
(A) Pratihar (B) Chalukya
(C) Chola (D) Rashtrakuta

(E)  Question not attempted

TreAfcTiad 9 =1 aferor A <1 S TsteieT TE7 or?

(A) YfdER (B) T
(C) = (D) TFe
(E) ATl 9

127 Who was the founder of Arya Samaj?
(A) Ramakrishna Paramhans (B) Raja Ram Mohan Roy
(C) Vivekanand (D) Swami Dayanand Saraswati

(E) Question not attempted

3T THTST o TR hiA I?

(A)  THFT THEH (B) TSI UM HIgT 4T
(©) foapriz (D) T T Tt
(E) SFdia g%

128 The Indian Council for Cultural Relation (ICCR) was founded by: .
(A) V.KR.V.Rao (B) Fakhruddin Ali Ahmed
(C) Dr. S. Radha Krishnan (D) Maulana Abul Kalam Azad

(E)  Question not attempted

TR HiEhTceh Heier TIug (37s. €. ©T. 3TR.) 31 T fohe <l 2

(A) & AT TE (B) WEEEH 3Tl 3TeHg
© @TQ’HWW (D) HIAHT A helH ATSITS
(E) SFTaia g%

X31] 9 38 [ P.T.O.



https://applink.adda247.com/d/XhqWf9lSap

Adda247

129 Given below are two statements:
Statement (I): Article 21A of the Constitution of India provides free and compulsory education to
all children of the age of six to fourteen years as their Fundamental Right.
Statement (II): This provision which is true for secondary education as a fundamental right is
applicable for higher and professional education too.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are correct.
(B) Both Statement (I) and Statement (II) are incorrect.
(C) Statement (I) is correct but Statement (II) is incorrect.
(D) Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

AT (I): TS EITH 7 T8 21A, B: U =IGe AN hl AT o6 @ft == i, HifcTsh SARrHT o &9 |
TR SR AT e e e 2l

HYT (I1): IE T ST ATeafien f3ret & fore difcres 1feri & &9 3 g © 98 3= 37T e f{nen
% fore ft B 21

SHIh sheHT oh STedreh H, < fou 7T forehedl # & Fardt 3 St |

(A) e (1) 3T HAA (1) SHT Tt &) (B) e (1) 3 A (IT) ST & 7T &

(C) e (1) el & AT e (I1) Teid 2 (D) Y (1) TTeTd & ATR e (11) T Rl

(E) SFdia g%

130 Given below are two statements:
Statement (I): Rajasthan was the first state to establish ‘Panchayati Raj’. The Scheme was inaugurated
by the Prime Minister on October 2, 1959 in Nagaur district.
Statement (II): Rajasthan was followed by Andhra Pradesh, which also adopted the Panchayati Raj
system in 1959.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are correct.
(B) Both Statement (I) and Statement (II) are incorrect.
(C) Statement (I) is correct but Statement (II) is incorrect.
(D) Statement (I) is incorrect but Statement (II) is correct.
(E)  Question not attempted
= a1 e feg e &
HAT (1): TSR TR TS0 ST S STAT TEAT S ATl 6 FISHT T IGIA TTTHA G 2 STHTE,
1959 3T AR ftet & ferarm o

AT (I1): TS o W18 1Y Te=T = IHeAT SO Tt F8 19,59 T H=rare! TS A shi 3T
IULH HI o AT H, i<t 9 T el # & gad Iuge o o]

(A) e (1) 3T FHAA (1) SHT Tt &) (B) e (1) 3 A (IT) ST & 7T &
(C) e (1) Tl & AT e (I1) Teid 2 (D) YA (1) TTeTd & ATR e (11) TET Rl
(E) SFdia g%
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131 Match List-I with List-I1.

List-1 List-11

Name of President of India Tenure
a. Dr. A.P. J. Abdul Kalam L. 13 May, 1967 — 03 May, 1969
b.  Giani Zail Singh II. 24 August, 1974 — 11 Feb, 1977
c. Dr. Fakhruddin Ali Ahmed III. 25 July, 1982 — 25 July, 1987
d. Dr. Zakir Hussain IV. 25, July 2002 — 25 July, 2007
Fft-1 & -1 7 firer hifs)

a1 Tei-11

WA oh U o ATH TR
a. 1T LS. 37egd HAH L 13,1967 — 348, 1969
b. S e I 24370, 1974 — 11 &1, 1977
c. I PR e ITEHe L. 259dTE, 1982 — 25 S8, 1987
d. =T SRR EEs IV. 25332002 — 25 TS 2007
Choose the most appropriate answer from the options given below:
et o T forshedl # @ @@ 39g T I 4|
(A) a-IV,b-TLc-I,d-1I B) a-Lb-ILc-11Ld-IV
(C) a-TLb-1V,c-Ld-1II (D) a-Lb-1V,c-1ILd-TII

(E)  Question not attempted / 377 a9y

132 Who was the first female Deputy Chairperson of Rajya Sabha?
(A) Meera Kumar (B) Violet Alva
(C) Raj Kumari Amrit Kaur (D) Vijaya Laxmi Pandit
(E)  Question not attempted

TS AT shl T Afgar Sureer i off?

(A) HHFAR (B) dciE 3l
(C) TS FHH 3 T (D) forcmreredt dfeq
(E) SFJaia g%
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133 Action plan to make Rajasthan, child marriage free was launched on which date?
(A) 5™ March 2017 (B) 5™ September 2017
(C) 15" April 2017 (D) 11" October 2017
(E)  Question not attempted

TSTET 1 AT [IaTE Tk ST Sl S ATSHT fofd ffer T STee <6l 1737

(A) 592017 (B) 5 e 2017
(C) 153112017 (D) 11 3FRS 2017
(E) SAJaid 9

134 Protection of Women from Domestic Violence Act (PWDVA) was enforced on which date in India?
(A) 26" December 2005 (B) 26" October 2006
(C) 25™ December 2007 (D) 26™ November 2014
(E) Question not attempted

=] T © AiaT o1 Eeor AfEH (PWDVA)” %t W H ol W] foarm i o2

(A) 26 fe@msR 2005 (B) 26 3FS 2006
(C) 25 feEsx 2007 (D) 26 TR 2014
(E) SFdia g%

135 “The Rajasthan Bhamashah Act” was passed by the Rajasthan State Assembly in

(A) April 2017 (B) March 2018

(C) April 2019 (D) March 2019

(E)  Question not attempted

“TISTELTT WTHTIITE AT, TSI ST [T g7 I EGREDIRIDI
(A) T 2017 (B) ®ME 2018

(C) AAA 2019 (D) 2019

(E) SFTaia g%

136 Which is not a type of saree? (Choose the most appropriate option from below)
(A) Chol (B) Nichol
(C) Dagla (D) Dhorawali
(E)  Question not attempted

freferfiaa & & 1 weh aTet oht Sehr T 27 (Fe & werdt Suees fershed <)

(A) = (B) =&
(C) Sttt (D) et
(E) raia g
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137 Which one of the following jewellery is worn around the neck by women in Rajasthan?
(A) Mokdi (B) Thamanyo
(C) Nogri (D) Nupur
(E)  Question not attempted

freaferfaa & & -ar smywor TsTeT § Afend et # geedt 82

(A) TIRET (B) uw=Hr
(C) (D) TR
(E) SFdia g%

138 Which is not a major school/gharana of Kathak?
(A) Lucknow gharana (B) Bikaner gharana
(C) Jaipur gharana (D) Banaras gharana
(E)  Question not attempted

frfaftad o & i9-81 SE forarer/ s w9 #1787 87

(A) TETS: T (B) eI ST
(C)  SHEITETAT (D) SERE gLHET
(E) SFdia I

139 Decrease in temperature with increase in height (altitude) is known as
(A) Normal lapse rate (B) Isotherm
(C) Inversion of temperature (D) Insolation

(E) Question not attempted

ST (T E) A Ife FaT A A fiwee 6l FarSmar 2
(A) EH < () T (B) @HATY @
(C) AT FcshHOT (D) AT

(E) SFdia g%

140 Monsoon is an example of: (Choose the most appropriate option from below)

(A) Local wind (B) Cyclonic wind
(C) Planetary wind (D) Seasonal wind
(E)  Question not attempted

T T T a0 ol (Fe o & werr ST forhe TH)
(A) T YA (B) IshaTdl qaq
(C) vHed ga (D) HrEH g

(E) SFdia g%
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141 The Khilafat Movement (1919-1920) was led by:
(A) Mohammad Ali and Shaukat Ali (B) Mohammad Ali and Shagufta Khan
(C) Mohammad Karim and Sanawar Ali (D) Mansur Ahmed and Sikander Ali

(E) Question not attempted

Raaiehd STiae (1919-1920), 3T qcd fohereh gRT foraT T2

(A) HIEHE 3Tl 3T IMieha 3Teft (B) HIEHE 3Tell SR IR @
(C) HIEwE T 3T TH1E et (D) W 3TET HN foehat reft
(E) SF7aia g%

142 ‘Khoob Lari Mardani vo to Jhansi Wali Rani thi’ (Like a men she fought, She was Rani of Jhansi).
Who wrote these lines?
(A) Vijaya Laxmi Pandit (B) Amrita Pritam
(C) Subhadra Kumari Chauhan (D) Rani Laxmibai

(E) Question not attempted

g e W A i gl et T ot 7 e e fer?

(A) ToScreH dfeq (B) e shaw
(C) w1 HART =eH (D) T aeiETs
(E) SF7aia g%

143 In which year Subsidiary Alliance system was devised by Lord Wellesley? (Choose the most
appropriate option from below)
TS AT G “HETHH TSsie Yottt ford o # e =l 718 oft? (1 o & werdl 3uaeh forehed <)
(A) 1786 (B) 1768
(C) 1798 (D) 1789
(E) Question not attempted / 3‘!’:@'&?[ 949

144 Bor Tiger Reserve is located in which state?
(A) Karnataka (B) Gujarat
(C) Maharashtra (D) Rajasthan

(E) Question not attempted

TR IR e forg U o ferd 29

(A) TFAICH (B) TS
(C) UENTE (D) TSI
(E) SF7aia g%
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“The Big Bang Theory” regarding the ‘Origin of the Universe” was propounded by:

(A) Dr. Allen Sandea
(C) Herman Bondy
(E)  Question not attempted

(B) Thomas Gold
(D) Georges Lemaitre

“STEITE shl ST o Freler | “foiT ST fegier” o1 Ufareer i om?

(A) SIUET e
(C) TSRS
(E) SAJaid 9

(B) oW s
(D) SIS i

Who is known as the father of White Revolution in India?

(B) Mr. Chidambram Subhramaniam

(A) Dr. M. S. Swaminathan
(C) Dr. Verghese Kurien
(E) Question not attempted

qRA § for8 & Shifd o Sk & &9 T STHT ST 87

(A) <1.0H.T" AT
(C) Eharfist i
(E) SFdia g%

Match List-I with List-I1.

List-I

Digestive disorder
a. Jaundice
b.  Vomiting
c.  Constipation

d. Diarrhoea

FA1-1 o |1 Feft-11 1 et iy
Teit-1
T & ok T

a. difown

b. 3

c. o

d.  Afar T (srafan)

(D) Dr. D.S. Kothari

(B) =i, forerecd gemorm
(D) EI. L uEHeR

List-I1
Organ affected
L Stomach

II. Small intestine

II. Liver

IV. Colon
et
gTfere 3T

|

I B sa

1. fa=x

IV. J8ard (SIS 3Aid)

Choose the most appropriate answer from the options given below:

et few e fereredt o @ warffares g ST R I AT

(A) a-TLb-1V,c-1,d-1I
(C) a-NLb-Lc-IV,d-1I

(E)  Question not attempted / 377 a9y

%
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(B) a-Lb-ILc-IV,d-TII
(D) a-MNLb-Lc-IL,d-1V
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148 Match List-1 with List-II.
List-I1

Deficiency of Vitamin & Minerals

List-I1

Disease caused

a. Vitamin A L Goiter

b.  Vitamin D II.  Anaemia

c. lodine III.  Loss of vision

d.  Iron IV. Rickets

Gf1-1 o @rer -1 s firetr iy
Teit-1 weit-11
TreTtim iR @it 6 et T

a. foefm A I T (TerE)

b. TR D . oAt

c. STREEH 0. gredar

d. R V. feheE (garim)

Choose the most appropriate answer from the options given below:

it fow T foreedt § & waffares 3ug 3Ll =95 hieg;

(A) a-II,b-IIc-1V,d-1 (B) a-NILb-1V,c-1L,d-1II
(C) a-Lb-Mllc-IV,d-1I (D) a-NLb-I,c-1,d-1V
(E) Question not attempted / ﬂ@ﬂﬁﬁ EE)

149 The most abundant cells in human blood are:
(A) Leucocytes (WBC)
(C) Platelets (Thrombocytes)
(E)  Question not attempted

HTE Th § Tere SR 7T 5 FHITITHTT |

(A) IR (S ot #) (B) TfReiTTsed (3 S+

(C) wieoieH (JFEHTECH) (D) HIHIETEZH (SSSTHT T TH TH)
(E) SFaia g%

(B)  Erythrocytes (RBC)
(D) Monocytes (Type of WBC)

150 Activities like walking in a straight line and riding a bicycle are controlled by:
(A) Cerebellum (B) Cerebrum
(C) Vertebral column (D) Adrenal gland
(E)  Question not attempted

el T § Tt 3 arsfenet = st fafafRm s forees g it ferem srar @2
(A) IFFHikah (BliseH) (B) yHf&Tsh (Gltsm)

(C) Txeg (afdstel hictH) (D) f¥rern (Tfgen) Tl
(E) SFdia g%
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IIC GFF @I A1 ghidl dige B G, et @ gdta gia st o T8 &Y | e gy
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